ECE 2201 – CIRCUIT ANALYSIS I
HOMEWORK #7 

[image: hh02122_]1.  a)  Use the mesh-current method to write a complete set of independent equations that could be used to solve this circuit.  Do not attempt to simplify the circuit.  Next slide

b)  Find iX.  



2.  a)  Use the mesh-current method to write a complete set of independent equations that could be used to solve this circuit.  Do not attempt to simplify the circuit.
b)  Find vX.   





3.  a)   Use the mesh-current method to write a complete set of independent equations that could be used to solve this circuit.  Do not attempt to simplify the circuit.
b)  Find vX.   





4.  a)  Use the mesh-current method to write a complete set of independent equations that could be used to solve this circuit.  Do not attempt to simplify the circuit.
b)  Find iX.  



5.  a)  Use the mesh-current method to write a complete set of equations that could be used to solve the circuit below.  Define all variables.  Do not attempt to simplify the circuit.  Do not attempt to solve the equations.  
b)  Compare the number of equations required using the node-voltage method and the mesh current method, for this circuit.  Which method requires fewer equations?




6.  a)  Use the mesh-current method to write a complete set of equations that could be used to solve this circuit.  Do not simplify the circuit.  Do not attempt to solve or simplify your equations.  Define all variables.  
b)  Compare the number of equations required using the node-voltage method and the mesh current method, for this circuit.  Which method requires fewer equations? 




7.  a)  For the given circuit, use the mesh-current method to write a complete set of independent equations that could be used to solve this circuit.  Do not simplify the circuit.  Do not attempt to solve or simplify your equations.  Define all variables.  
b)  Compare the number of equations required using the node-voltage method and the mesh current method, for this circuit.  Which method requires fewer equations?  





Numerical Solutions

1. iX = -0.3787[A]
2. vX = 430.06869[V]
3. vX = 0.38679[V]
4. iX = -0.40467[A]
5. through 7.  Solutions omitted.

[bookmark: _GoBack]








7.8

oleObject1.bin

image3.wmf
R

10

=

14[

W

]

i

S1

=

2[A]

R

1

=

47[

W

]

+

v

S1

=

3[W]

 

i

X

-

R

6

=

13[

W

]

R

9

=

6[

W

]

i

S5

=

5

i

Q

R

2

=

7[

W

]

+

-

v

S4

=

11[V]

R

11

=

15[

W

]

R

8

=

19[

W

]

i

Q

v

X

+

-

i

S2

=

8[A]

R

4

=

12[

W

]

i

S3

=

9[A]

R

3

=

10[

W

]

+

v

S2

=

2

 

v

X

-

i

S4

=

16[A]

R

12

=

17[

W

]

R

5

=

18[

W

]

+

v

S3

=

4

 

v

Q

-

R

7

=

20[

W

]

v

Q

+

-

i

X


oleObject2.bin

image4.wmf
R

1

=

1[

W

]

R

8

=

12[

W

]

R

10

=

14[

W

]

+

-

v

S1

=

3[V]

R

2

=

2[

W

]

R

9

=

13[

W

]

v

X

+

-

R

5

=

4[

W

]

R

11

=

16[

W

]

R

7

=

9[

W

]

R

3

=

7[

W

]

i

X

i

S2

=

5

i

X

R

4

=

10[

W

]

i

S3

=

11[A]

+

-

v

S2

=

15[V]

i

S1

=

6[S]

v

X

R

6

=

8[

W

]


oleObject3.bin

image5.wmf
R

1

=

1[

W

]

R

6

=

6[

W

]

R

8

=

8[

W

]

+

-

v

S4

=

3[V]

v

X

+

-

R

7

=

7[

W

]

R

2

=

2[

W

]

i

X

R

4

=

4[

W

]

+

-

v

S1

=

3[V]

R

3

=

3[

W

]

+

v

S3

=

10 

v

X

-

+

v

S5

=

15[W]

 

i

X

-

i

S1

=

7[A]

R

5

=

5[

W

]

+

v

S2

=

5[W] 

i

X

-


oleObject4.bin

image6.wmf
19[

W

]

6[

W

]

14[

W

]

17[

W

]

7[

W

]

21[

W

]

20[

W

]

v

X

+

-

8[

W

]

22[

W

]

15[

W

]

v

W

+

-

i

X

+

3

v

W

-

12[

W

]

+

4

[

W

]

i

X

-

24[A]

18[

W

]

5[S]

v

X

16[

W

]

9[

W

]

+

-

23[V]

10[

W

]

13[

W

]

24[A]

30[A]


oleObject5.bin

image7.wmf
33[

W

]

29[

W

]

24[

W

]

25[

W

]

30[

W

]

v

W

-

+

v

X

-

+

i

X

i

W

9

v

X

+

-

28[

W

]

+

-

4

[V]

32[

W

]

3

[A]

7

i

W

6

[A]

+

-

5

[V]

36[

W

]

37[

W

]

+

-

2

[V]

11[

W

]

i

X

+

-

8

v

W

+

-

10[

W

]

i

W

+

-

35[

W

]

31[

W

]

34[

W

]

38[

W

]


oleObject6.bin

image8.wmf
6[

W

]

i

Q

+

-

34[

W

]

38[

W

]

i

X

i

Q

v

Q

+

-

v

X

+

-

28[

W

]

29[

W

]

+

-

12

[V]

+

-

10

[V]

+

-

11

[V]

30[

W

]

31[

W

]

37[

W

]

36[

W

]

33[

W

]

35[

W

]

7

v

X

+

-

3

[A]

8[S]

v

Q

+

-

13

[V]

4

[A]

5

i

X

32[

W

]


oleObject7.bin

image1.emf

image2.wmf
i

S1

=

0.3[A]

+

-

v

S2

=

12[V]

R

1

=

47[

W

]

R

3

=

56[

W

]

+

v

S1

=

25

 

v

Y

-

R

8

=

20[

W

]

R

5

=

33[

W

]

i

S2

=

0.2

i

X

R

4

=

39[

W

]

R

2

=

82[

W

]

+

-

v

S3

=

5[V]

R

6

=

22[

W

]

R

7

=

27[

W

]

i

X

v

Y

+

-


